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maw_ST LMi_g 240s_2025-02-07%04-46-0Q
UTC 2025-02-07 04:46:13.43

Mean = 2023 647 -

o = 483.574

Exposure Time =240.0 s

ModeO

min = mean - 0.5 0 = 1781.86

max = mean + 2 0 = 2990.795

Focus = 10000.0
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maw ST LMi i 240s 2025-02-07T@4-51- 50,
UTC 2025-02-07 04:51:50.08

Mean = 1219.597 Py

o= 153.144

Exposure Time =240:0 s

ModeO

min = rean - 0.5 0 = 1143.025

max = mean + 2 0 = 1525.885

Focus = 10000.0
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4000
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maw ST LMi i 240s 2025-02-07T©5-01- 50
UTC 2025-02-07 05:01:50.08

Mean = 1205 700 ®

o = 158.56

Exposure Tlme =240.0 s

ModeO

min = mean - 0.5 0 =1126.416

maxXx = mean + 2 o = 1522.834
Focus = 10000.0 "
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4000
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maw_ST LMi g 240s 2025-02-07T05-06- 00
UTC 2025-02-07 05:06:18.87

Mean = 1949 899

0 = 514.429 .

Exposure Time =240.0 s

ModeO

min = mean - 0.5 0 = 1692.684

max = mean + 2 o = 2978. 757

Focus = 10000.0
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3000

4000
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maw ST LMi i 240s 2025-02-07TQ5-11- 50
UTC 2025-02-07 05:11:50.06

Mean = 1194 093

o = 157.65 *

Exposure Tlme =240.0 s

ModeO

min = mean - 0.5 0 =1115.268

max = mean + 2 o = 1509. 396

Focus = 10000.0
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3000

4000
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maw_ST LMi g 240s 2025-02-07T,05-16- 00
UTC 2025-02-07 05:19:24.11

Mean = 1902.155

o=532.273 ®

Exposure Time =240.0 s

ModeO

min = mean - 0.5 0 = 1636.019

max = mean + 2 0 = 2966. 701

Focus = 10000.0
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3000

4000
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maw_ST LMi i 240s 2025-02-07TQ5-21- 50
UTC 2025-02-07 05:23:52.86

Mean = 1190.735

o=163.299

Exposure Time =240.0 s

ModeO

min = mean - 0.5 0 = 1109.086

max = mean + 2 o = 1517.333

Focus = 10000.0 .
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maw_ST LMi g 240s 2025-02-07T,05-26- 00
UTC 2025-02-07 05:28:21.75

Mean = 1877.627

o =564.237

Exposure Time =240.0 s

ModeO

min = mean - 0.5 0 = 1595.509

max = mean + 2 o = 3006. 101

Focus = 10000.0
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3000

4000
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maw_ST LMi i 240s 2025-02-07TQ5-31- 50
UTC 2025-02-07 05:32:49.36

Mean = 1183 740

o=171.66

Exposure T|me =240.0 s

ModeO

min = mean - 0.5 o0 = 1097.909

maxXx = mean + 2 o = 1527. 064

Focus = 10000.0
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3000

4000
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maw_ST LMi i 240s 2025-02-07T05-41- 50
UTC 2025-02-07 05:41:50.08

Mean = 1178.454

o=173.835

Exposure Time =240.0 s

ModeO

min = mean - 0.5 0 = 1091.536

max = mean + 2 0 = 1526. 125

Focus = 10000.0
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3000

4000
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maw_ST LMi g 240s 2025-02-07T05-46- 00
UTC 2025-02-07 05:46:18.95

Mean = 1817 221

o =573.15

Exposure Tlme =240.0 s

ModeO

min = mean - 0.5 0 = 1530.645

max = mean + 2 0 = 2963. 529

Focus = 10000.0

1000 2000

3000

4000



500

1000

1500

2000

2500

3000

maw_ST LMi i 240s 2025-02-07T05-51- 50
UTC 2025-02-07 05:53:48.35

Mean = 1171.119

o = 285.873

Exposure Time =240.0 s

ModeO

min = mean - 0.5 ¢ = 1028.183

max = mean + 2 o = 1742. 865
Focus = 10816.0
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4000
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maw_ST.LMi g 240s 2025-02-07T05-56- 00
UTC 2025-02-07 05:58:17.15

Mean = 1778.608

o=512.975

Exposure Time =240.0 s

ModeO

min = mean - 0.5 ¢ = 1522.12

maxXx = mean + 2 o = 2804.558
Focus = 10816.0 ’
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maw_ST LMi i 240s 2025-02-07T06-01- 50
UTC 2025-02-07 06:02:44.57

Mean = 1168.831

o = 279.857

Exposure Time =240.0 s

ModeO

min = mean - 0.5 ¢ = 1028.903

max = mean + 2 o = 1728. 546
Focus = 10816.0
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4000
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maw_ST.LMi g 240s 2025-02-07T06-06- 00
UTC 2025-02-07 06:07:13.37

Mean = 1756.020

o=531.238

Exposure Time =240.0 s

ModeO

min = mean - 0.5 0 = 1490.4

max = mean + 2 o = 2818. 496

Focus = 10816.0
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3000

4000
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maw_ST_ LMi i 240s 2025-02-07T06-11- 50
UTC 2025-02-07 06:11:50.03

Mean = 1168.413

o= 284.761

Exposure Time =240.0 s

ModeO

min = mean - 0.5 ¢ = 1026.032

max = mean + 2 o= 1737. 936
Focus = 10816.0

1000 2000

3000

4000



500

1000

1500

2000

2500

3000

maw_ST.LMi g 240s 2025-02-07T06-16- 00
UTC 2025-02-07 06:16:18.87

Mean = 1734 700

o =507.81

Exposure T|me =240.0 s

ModeO

min = mean - 0.5 o = 1480.795

max = mean + 2 o = 2750. 321

Focus = 10816. 0
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4000
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maw ST LMi i 240s 2025-02-07T06-21- 50
UTC 2025-02-07 06:21:50.04

Mean = 1163 413

o= 282.22

Exposure Tlme =240.0 s

ModeO

min = mean - 0.5 0 = 1022.303

max = mean + 2 0= 1727. 852
Focus = 10816.0 :
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2000
maw_ST LMi g 240s 2025-02-07T,06-26-00
UTC 2025-02-07 06:29:28.28 -
Mean = 1715.036

Exposure Time =240.0 s
ModeO
1419.102

min = mean - 0.5 0 =
maxXx = mean + 2 o = 2898.772
3000 Focus = 10000.0 =
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maw ST LMi g 240s 2025-02-07T,06-36- 00
UTC 2025-02-07 06:38:24.66

Mean = 1698.044

0 = 598.848 ¢

Exposure Time =240.0 s

ModeO

min = mean - 0.5 0 = 1398.62

max = mean + 2 o = 2895. 739

Focus = 10000.0

1000 2000

3000

4000



500

1000

1500

2000

2500

3000

maw_ST LMi g 240s 2025-02-07T06-46- 00
UTC 2025-02-07 06:47:20.97

Mean = 1680 244

0 =592.91 ¢

Exposure Tlme =240.0 s

ModeO

min = mean - 0.5 0 = 1383.786

maxXx = mean + 2 0 = 2866. 08

Focus = 10000.0
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3000

4000
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maw ST LMi i 240s 2025-02-07T06-51- 50
UTC 2025-02-07 06:51:50.10

Mean = 1151.910 ®

o= 191.002

Exposure Time =240.0 s

ModeO

min = mean - 0.5 0 = 1056.409

max = mean + 2 o = 1533. 914

Focus = 10000.0
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3000

4000
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maw_ST LMi g 240s 2025-02-07%06-56- 00
UTC 2025-02-07 06:56:18.79

Mean = 1666.394 .

o =591.262

Exposure Time =240.0 s

ModeO

min = mean - 0.5 0 = 1370.763

max = mean + 2 0 = 2848.917

Focus = 10000.0
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3000

4000
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maw ST LMi i 240s 2025-02-07T07-01- 50,
UTC 2025-02-07 07:03:46.83

Mean = 1147.766 .

o = 284.837

Exposure Time 24(} 0s

ModeO

min = mean - 0.5 o0 = 1005.348

max = mean + 2 0 = 1717.44

Focus = 10778. 0
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3000

4000
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maw_ST - LMi_g 240s_2025-02-07F07-06-00
UTC 2025-02-07 07:08:15.66

Mean = 1638 318 *

o=516.53

Exposure T|me 240 Os

ModeO

min = mean - 0.5 o0 = 1380.05

max = mean + 2 0 = 2671.392
Focus = 10778.0
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maw_ST LMi i 240s 2025-02-07T07-11-50
UTC 2025-02-07 07:12:43.18

Mean = 1144.722 ¢

o = 283.536

Exposure Time =240.0 s

ModeO b

min = mean - 0.5 o0 = 1002.954

max = mean + 2 0 = 1711.795
Focus = 10778.0
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4000
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maw_ST LMi g 240s 2025-02-07F07-16-00
UTC 2025-02-07 07:17:12.00

Mean = 1624 319 +*

o = 503.90

Exposure T|me 240 Os

ModeO

min = mean - 0.5 o0 = 1372.367

max = mean + 2 0 = 2632.124
Focus = 10778.0 '
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3000

4000
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maw_ST LMi i 240s 2025-02-07T07-21-50,
UTC 2025-02-07 07:21:50.09

Mean = 1142.094 &

Exposure Time =240.0 s

ModeO :

min = mean - 0.5 0 = 998.153

max = mean + 2 o= 1717.859
e g Focus = 10778.0
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maw_ST LMi g 240s 2025-02-07F07-26-00
UTC 2025-02-07 07:26:19.01

Mean = 1609.912 -

o = 516.895

Exposure Time =240.0 s

ModeO

min = mean - 0.5 0 = 1351.464

maxXx = mean + 2 0 = 2643.7Q2
Focus = 10778.0_ i
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maw_ST LMi i 240s 2025-02-07T07-31-50,

UTC 2025-02-07 07:31:50.07
Mean = 1143.709 ™

o = 286.311

Exposure Time =240.0 s
ModeO

min = mean - 0.5 o = 1000.553

max =mean + 20 =1716.332
Focus = 10778.0

1000 2000

3000

4000
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maw_ST LMi g 240s 2025-02-07TF07-36-00
UTC 2025-02-07 07:39:27.64

Mean = 1593 456 *

o =603.90

Exposure T|me =240.0 s

ModeO,

min = mean - 0.5 0 = 1291.506

maxXx = mean + 2 o = 2801.26

Focus = 10000.0
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4000



500

1000

1500

2000

2500

3000

maw ST LMi i 240s 2025-02-07T07-41-5Q,
UTC 2025-02-07 07:43:55.05

Mean = 1140.167 ™

o= 206.198

Exposure Time =240.0 s

ModeO,

min = mean - 0.5 0 = 1037.068

maxXx = mean + 2 0 = 1552.562

Focus = 10000.0
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3000

4000
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maw ST LMi g 240s 2025-02-07T07-46-00
UTC 2025-02-07 07:48:23.92

Mean = 1579.955 *

o = 600.161

Exposure Time =240.0 s

ModeO.

min = mean - 0.5 0 = 1279.874

maxXx = mean + 2 o = 2780.2%7

Focus = 10000.0
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4000
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maw ST LMi i 240s 2025-02-07T907-51-5Q
UTC 2025-02-07 07:52:51.32
Mean = 1137 539 ®
o= 187.49

Exposure Tlme =240.0 s
ModeO.

min = mean - 0.5 0 = 1043.79
maxXx = mean + 2 o = 1512.53
Focus = 10000.0

1
P
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maw_ST LMi g 240s 2025-02-07T07-56-00
UTC 2025-02-07 07:57:20.05

Mean = 1567.650 L ]

o = 595.293

Exposure Time =240.0 s

ModeO.

min = mean - 0.5 0 = 1270.003

maxXx = mean + 2 o = 2758.236

Focus = 10000.0
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maw ST LMi i 240s 2025-02-07T08-01-50.
UTC 2025-02-07 08:01:50.11

Mean = 1138 346 L

o = 184.454

Exposure Time =240.0 s

ModeO.

min = mean - 0.5 0 = 1046.12

maxXx = mean + 2 o = 1507.253
Focus = 10000.0
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4000
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maw ST LMi g 240s 2025-02-07T08-06-00
UTC 2025-02-07 08:06:19.11

Mean = 1555.477 [

o= 607.320 _

Exposure Time =240.0 s

ModeO.

min = mean - 0.5 0 = 1251.817

maxXx = mean + 2 0= 2770.118

Focus = 10000.0
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4000
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maw ST LMi i 240s 2025-02-07T08-11-50
UTC 2025-02-07 08:13: 48 96

Mean = 1130 457

o = 283.37

Exposure Tlme =240.0s

ModeO .

min = mean - 0.5 o = 988.769

max = mean + 2 0 = 1697.2%

Focus = 10768.0
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maw ST LMi g 240s 2025-02-07T08-16-00
UTC 2025-02-07 08:18:17.92

Mean = 1534 839 *

o = 493.62

Exposure T|me =240.0s

ModeO -

min = mean - 0.5 0 = 1288.025

maxXx = mean + 2 o = 2522.092

Focus = 10768.0,
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maw ST LMi i 240s 2025-02-07T08-21-50
UTC 2025-02-07 08:22: 45 54

Mean = 1129.070

o = 281.988 )

Exposure Time =240.0 s

ModeO .

min = mean - 0.5 0 = 988.076

maxXx = mean + 2 0 = 1693.047

Focus = 10768.0,
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maw ST LMi g 240s 2025-02-07T08-26-00
UTC 2025-02-07 08:27:14.08

Mean = 1524.220 *

o =502.380 sty

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 1273.03

maxXx = mean + 2 0 = 2528.979

Focus = 10768.0,
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maw ST LMi i 240s 2025-02-07T08-31-50
UTC 2025-02-07 08:31: 50 10

Mean = 1128.552

o = 285.993

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 o0 = 985.556

max = mean + 2 0 = 1700.538

Focus = 10768.0,

1000 2000

3000

4000



500

1000

1500

2000

2500

3000

maw_ST LMi g 240s 2025-02-07T08-36-00
UTC 2025-02-07 08:36:18.81

Mean = 1514.996 *

o =516.557 et

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 1256.718

maxXx = mean + 2 0 = 2548.1%1

Focus = 10768.0.
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maw ST LMi i 240s 2025-02-07T08-41-50
UTC 2025-02-07 08:41: 50 (0]°)

Mean = 1129.548

o = 282.105

Exposure Time =240.0' s

ModeO -

min = mean - 0.5 0 = 988.496

maxXx = mean + 2 0 = 1693.758

Focus = 10768.0
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maw_ST LMi g 240s 2025-02-07T08-46-00
UTC 2025-02-07 08:49:26.10
Mean = 1494.044 *

o=521.785

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 1233.151

maxXx = mean + 2 0 = 2537.615

Focus = 10787.0.
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maw ST LMi i 240s 2025-02-07T08-51-50-
UTC 2025-02-07 08:53: 53 43

Mean = 1132 690

o = 283.37

Exposure T|me =240.0 s

ModeO -

min = mean - 0.5 0 = 991.001

maxXx = mean + 2 0 = 1699.443

Focus = 10787.0
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maw_ST LMi g 240s 2025-02-07108-56-00
UTC 2025-02-07 08:58:22.28
Mean = 1476.313 .

o =503.085

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 1224.771

maxXx = mean + 2 0 = 2482.483

Focus = 10787.0.
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maw ST LMi i 240s 2025-02-07T09-01-50
UTC 2025-02-07 09:02: 49 70

Mean = 1130 519

o = 284.63

Exposure T|me =240.0s

ModeO -

min = mean - 0.5 0 = 988.2

maxXx = mean + 2 o = 1699.794

Focus = 10787.0
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maw_ST LMi g 240s 2025-02-07T09-06-00
UTC 2025-02-07 09:07:18.45

Mean = 1456.190 L4

o=497.177

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 1207.601

max = mean + 2 o = 2450.544

Focus = 10787.0.
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maw ST LMi i 240s 2025-02-07T09-11-50
UTC 2025-02-07 09:11: 50 07

Mean = 1127.855

o = 288.503

Exposure Time =240.0s

ModeO -

min = mean - 0.5 0 = 983.603

maxXx = mean + 2 0 = 1704.86

Focus = 10787.0
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maw_ST LMi g 240s 2025-02-07T09-16-00
UTC 2025-02-07 09:16:18.97

Mean = 1440.918 *

o=512.540

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 1184.648

maxXx = mean + 2 0 = 2465.997

Focus = 10787.0.
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maw ST LMi g 240s 2025-02-07T09-20-00
UTC 2025-02-07 09:23:47.05

Mean = 1424.174 *

o = 495.392 e

Exposure Time =240.0 s

ModeO -

min = mean-0.50=1176.478

maXx = mean + 2 0 = 2414.959

Focus = 10719.0
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maw_ST LMi r 240s 2025-02-07T09-24-05
UTC 2025-02-07 09:28:13.04

Mean = 1242.137 .

o = 437.601 e

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 1023.336
maxXx = mean + 20 = 2117.338
Focus = 10719.0.
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maw_ST LMi g 240s 2025-02-07109-30-00
UTC 2025-02-07 09:32:42.97

Mean = 1397 762 *

o = 508.75

Exposure T|me =240.0 s

ModeO -

min = mean - 0.5 0 = 1143.383

maxXx = mean + 2 o = 2415.279

Focus = 10719.0
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maw ST LMi r 240s 2025-02-07T709-34-05
UTC 2025-02-07 09:37: 08 90

Mean = 1234 636

o= 425,56

Exposure T|me =240.0 s

ModeO -

min = mean - 0.5 0 = 1021.853

maxXx = mean + 2 o = 2085.767

Focus = 10719.0
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maw ST LMi g 240s 2025-02-07T09-40-00
UTC 2025-02-07 09:41:38.90

Mean = 1365 752 *

o = 453.87

Exposure T|me =240.0 s

ModeO -

min = mean - 0.5 0 = 1138.814

max = mean + 2 o = 2273.503

Focus = 10719.0
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maw ST LMi r 240s 2025-02-07T09-44-05
UTC 2025-02-07 09:46: 04 91

Mean = 1225.950

o = 395.330

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 1028.285

maxXx = mean + 2 o = 2016.61

Focus = 10719.0
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maw_ST LMi g 240s 2025-02-07109-50-00
UTC 2025-02-07 09:50:34.97
Mean = 1328 478 *

o=474.46

Exposure T|me =240.0 s

ModeO -

min = mean - 0.5 o0 = 1091.245

max = mean + 2 o = 2277.469

Focus = 10719.0
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maw ST LMi r 240s 2025- 02 07709-54-05
UTC 2025-02-07 09:58: 04

Mean = 1209 490

o = 439.08

Exposure T|me =240.0 s

ModeO -

min = mean - 0.5 0 = 989.947

maxXx = mean + 2 o = 2087.66

Focus = 10784.0.
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maw ST LMi g 240s_2025-02-07110-00-00
UTC 2025-02-07 10:02:34.34

Mean = 1262.515 *

o = 504.792

Exposure Time =240.0 s

ModeO -
min = mean - 0.5 0 = 1010.119

max = mean + 2 0 =_2272.1'
Focus = 10784.0 :
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maw ST LMi r 240s 2025-02-07T10-04-05
UTC 2025-02-07 10:07: 00 23

Mean = 1191 846

o = 448.65

Exposure T|me =240.0 s

ModeO -

min = mean - 0.5 0 = 967.518

maxXx = mean + 2 o = 2089.158

Focus = 10784.0
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3000

maw_ST LMi g 240s 2025-02-07110-10-00
UTC 2025-02-07 10:11:30.26
Mean = 1216.719 *

o=515.179

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 959.13

maxXx = mean + 2 o = 2247.078

Focus = 10784.0
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3000

4000
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3000

maw ST LMi r 240s 2025-02-07T10-14-05
UTC 2025-02-07 10:15: 56 31

Mean = 1166 230

o=441.18

Exposure T|me =240.0 s

ModeO -

min = mean - 0.5 0 = 945.639

maxXx = mean + 2 o = 2048.595

Focus = 10784.0
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4000
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2500

3000

maw_ST LMi g 240s 2025-02-07T10-20-00
UTC 2025-02-07 10:20: 26 45

Mean = 1177.229

o=513.258

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 920.6

maxXx = mean + 2 o = 2203.745

Focus = 10784.0
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3000

4000
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3000

maw ST LMi r 240s 2025-02-07T10-24-05
UTC 2025-02-07 10:24: 52 45

Mean = 1151.290

o =430.780

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 935.9

maxXx = mean + 2 o = 2012.849

Focus = 10784.Q
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3000

maw_ST LMi g 240s 2025-02-07T10-30-00
UTC 2025-02-07 10:32:28.97

Mean = 1151.439 +*

o = 494.235 T

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 904.321

max = mean + 2 0 = 2139.969

Focus = 10669.0
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4000
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1000

1500

2000

2500

3000

maw ST LMi r 240s 2025-02-07T10-34-05
UTC 2025-02-07 10:36: 55 (0]0]

Mean = 1147.632

o = 408.607

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 943.328

maX = mean + 2 0 = 1964.845

Focus = 10669.0
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3000

maw_ST LMi g 240s 2025-02-07T10-40-00
UTC 2025-02-07 10:41:24.99

Mean = 1147.340 +

o = 486.626 .

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 904.027

maxXx = mean + 2 o = 2120.593

Focus = 10669.0
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3000

maw ST LMi r 240s 2025-02-07T10-44-05
UTC 2025-02-07 10:45: 50 95

Mean = 1146.177

o= 442753

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 924.8

max = mean + 2 o = 2031.683

Focus = 10669.0
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3000

maw_ST LMi g 240s 2025-02-07T10-50-00
UTC 2025-02-07 10:50:21.16

Mean = 1150.528 *

o = 549.462

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 o0 = 875.797

maxXx = mean + 2 0 = 2249.452

Focus = 10669.0
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3000

maw ST LMi r 240s 2025- 02 07T10-54-05
UTC 2025-02-07 10:54: 47 21

Mean = 1151.134

o= 463.786

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 919.241

maxXx = mean + 2 o = 2078.706

Focus = 10669.0
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3000

maw_ST LMi g 240s 2025-02-07T11-00-00
UTC 2025-02-07 11:00:00.09

Mean = 1154.622 *

o =534.723 s,

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 o0 = 887.261

maxXx = mean + 2 0 = 2224.068

Focus = 10669.0
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4000
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3000

maw_ST LMi g 240s 2025-02-07111-10-00
UTC 2025-02-07 11:12:00.80

Mean = 1157.016 *

o =509.210 At

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 902.411

maxXx = mean + 2 o = 2175.487

Focus = 10663.0
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maw ST LMi r 240s 2025-02-07T11-14-05
UTC 2025-02-07 11:16: 25 82

Mean = 1159.756

o= 422.845

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 948.333

maXx = mean + 2 o = 2005.446

Focus = 10663.0
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4000
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2500

3000

maw_ST LMi g 240s 2025-02-07T11-20-00
UTC 2025-02-07 11:20: 54 94

Mean = 1156.357

o =501.475

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 905.62

maxXx = mean + 2 o = 2159.3608

Focus = 10663.0
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3000

maw ST LMi r 240s 2025-02-07T11-24-05
UTC 2025-02-07 11:25: 20 19

Mean = 1160 337

o=425.19

Exposure T|me =240.0 s

ModeO -

min = mean - 0.5 0 = 947.741

maxXx = mean + 2 o = 2010.724

Focus = 10663.0
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3000

maw_ST LMi g 240s 2025-02-07T11-30-00
UTC 2025-02-07 11:30: 00 08

Mean = 1157.845

o = 525.008

Exposure Time =240.0 s

ModeO -

min = mean - 0.5 0 = 895.341

maXx = mean + 2 o = 2207.861

Focus = 10663.0
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3000

4000
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3000

maw ST LMi r 240s 2025-02-07T11-34-05
UTC 2025-02-07 11:34: 25 18

Mean = 1163.020

o= 428.288

Exposure Time =240.0' s

ModeO -

min = mean - 0.5 0 = 948.876

maXx = mean + 2 o = 2019.596

Focus = 10663.0

1000 2000

3000

4000



500
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1500
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2500

3000

maw ST LMi g 240s 2025-02-07T11-40-00
UTC 2025-02-07 11:41:55.31

Mean = 1160 563 *

o = 508.450

Exposure Time =240.0' s

ModeO-

min = mean - 0.5 0 = 906.338

maxXx = mean + 2 o= 2177.463

Focus = 10709.0
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3000

maw_ST LMi r 240s 2025-02-07T11-44-05
UTC 2025-02-07 11:46:2.0.48

Mean = 1165 240

o=424.32

Exposure T|me =240.0' s

ModeO-

min = mean - 0.5 0 = 953.077

max = mean + 2 o = 2013.893

Focus = 10709.0
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3000

maw_ST LMi g 240s 2025-02-07T11-50-00
UTC 2025-02-07 11:'50:%9.92

Mean = 1162 084

o=512.91

Exposure T|me 240 Os

ModeO*

min = mean - 0.5 0 = 905.628

max = mean + 2 o = 2187.908

Focus = 10709.0
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3000

maw_ST LMi r 240s 2025-02-07T11-54-05
UTC 2025-02-07 11:55:].5.08

Mean = 1165 415

o=435.21

Exposure T|me 240 O0s

ModeO-

min = mean - 0.5 0 = 947.809

maxXx = mean + 2 o = 2035.837

Focus = 10709.0 _
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3000

4000
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3000

maw ST LMi g 240s 2025-02-07T12-00-00
UTC 2025-02-07 12:"00:(;0.09

Mean = 1167.441

o =530.941

Exposure Time 240 Os

ModeO*

min = mean - 0.5 o0 = 901.971

maxXx = mean + 2 0 = 2229.322

Focus = 10709.0
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3000

4000
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3000

maw ST LMi r 240s 2025- 02 07T12-04-05
UTC 2025-02-07 12:04: 2.5

Mean = 1181.336

o=427.208

Exposure Time 240 O0s

ModeO

min = mean - 0.5 0 = 967.732

max = mean + 2 o = 2035.751

Focus = 10709.0
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3000

4000
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2500

3000

maw_ST LMi g 240s 2025-02-07T12-10-00
UTC 2025-02-07 12:'10:Q0.09

Mean = 1174. 933

o =503.369

Exposure Time 240 O0s

ModeO*

min = mean - 0.5 0 = 923.249

max = mean + 2 o = 2181.67

Focus = 10709.0 .
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3000

maw ST LMi r 240s 2025-02-07T12-14-05
UTC 2025-02-07 12":17:;9.83

Mean = 1174.352

o=442.876 S

Exposure Time =240.0 s

ModeO*

min = mean - 0.5 o = 952.914

max = mean + 2 o0 = 2060.105

Focus = 10777.0 |,
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4000
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2500

3000

maw ST LMi g 240s 2025-02-07T12-20-00
UTC 2025-02-07 12:'21:59.85

Mean = 1172. 622

o =526.415

Exposure Time 240 O0s

ModeO*

min = mean - 0.5 0 = 909.41

max = mean + 2 0 = 2225.453

Focus = 10777.0 .
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3000

maw ST LMi r 240s 2025-02-07T12-24-05
UTC 2025-02-07 12":26:@.55

Mean = 1178. 100

o = 458.788

Exposure Time 240 Os

ModeO*

min = mean - 0.5 0 = 948.70,?

maxXx = mean + 2 o = 2095.6/7

Focus = 10777.0 .,
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3000

maw_ST LMi g 240s 2025-02-07T12-30-00
UTC 2025-02-07 12:30:35.55

Mean = 1175.384

o =518.552 2

Exposure Time =240.0 s

ModeO"

min = mean - 0.5 0 = 916.10

maxXx = mean + 2 0 = 2212.487

Focus = 10777.0 .
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4000
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2500

3000

maw ST LMi r 240s 2025-02-07T12-34-05
UTC 2025-02-07 12:35:21.26

Mean = 1180 398

o = 45422 .

Exposure T|me 240 Os

ModeO

min = mean - 0.5 0 = 953.28

maxXx = mean + 2 o = 2088.839

Focus = 10777.0 .
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4000
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2500

3000

maw_ST LMi g 240s 2025-02-07T12-40-00
UTC 2025-02-07 12:40:Q0.11

Mean = 1180 584

o=513.98 g

Exposure T|me =240.0 s

ModeO

min = mean - 0.5 0 = 923.59,

max = mean + 2 o = 2208.558

Focus = 10777.0 .
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4000
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3000

maw ST LMi r 240s 2025-02-07T12-44-05
UTC 2025-02-07 12:44:35.94

Mean = 1184 415

o = 446.75 :

Exposure T|me =240.0 s

ModeO

min = mean - 0.5 0 = 961.04.

max = mean + 2 o = 2077.918

Focus = 10777.0 .
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3000

4000
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2500

3000

maw_ST LMi g 240s 2025-02-07T12-50-00
UTC 2025-02-07 12:52:@5.08

Mean = 1205.061

o = 593.253

Exposure Time =240.0 s

ModeO

min = mean - 0.5 0 = 908.434

maxXx = mean + 2 o = 2391.566

Focus = 10000.0
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3000

maw ST LMi r 240s 2025-02-07T12-54-05
UTC 2025-02-07 12:56:30.96

Mean = 1215.556

o = 488.336 _

Exposure Time =240.0 s

ModeO

min = mean - 0.5 0 = 971.388

maXx = mean + 2 o = 2192.228

Focus = 10000.0 -
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3000

maw_ST LMi g 240s 2025-02-07T13-00-00
UTC 2025-02-07 13:01:@1.29

Mean = 1307 259

o= 601.06

Exposure Tlme =240.0 s

ModeO

min = mean - 0.5 0 = 1006.728

max = mean + 2 o = 2509.382

Focus = 10000.0 -
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3000

maw ST LMi r 240s 2025-02-07T13-04-05
UTC 2025-02-07 13:05:27.08

Mean = 1332 793

o = 485.357

Exposure Time =240.0 s

ModeO

min = mean - 0.5 0 = 1090.1414

max = mean + 2 o = 2303.506

Focus = 10000.0 -
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maw_ST LMi g 240s 2025-02-07T13-10-00
UTC 2025-02-07 13:10:@0.16

Mean = 1937 866

o = 580.39

Exposure T|me =240.0 s

ModeO

min = mean - 0.5 0 = 1647.667

maxXx = mean + 2 o = 3098.661

Focus = 10000.0
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